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1U28+880 4i0»3Y0 1»&C U.2AT3R3T 65,0000 65,0000
2. DBV &T3T3Y R3Y3TaAl=3Y
S A 56,099.0 56,099.0
2/x p-12 2VAS+-@36C6-@3Yaa30 T0 7+500 T3Vadic
(Y3AQ) 6,099.0 6,099.0
2/x p-19 2R 3AST-GRST3Y - 3R TU 3+900
T3Uabfic (2263E -»T) 50,000.0 50,000.0
3. @=i%3(CY YR2Y=2T4iAl=Y S Trax3Y=243hlY»fi 236,825.0 236,825.0
={1 Afgl’
23 314wV U3, 301 ATail 19,220.0 19,220.0
2331 430306 T3Uadc 19,220.0 19,220.0
23[=7¢ U3, 301 ATail 37,605.0 37,605.0
T-2-51 @aw»06ail 2437 ¢A30p=3ACY, T00+000 T3Uadf¢ 15,706.0 15,706.0
j;‘zjzz~ DIYABA»T3T3Y x3Y3337i-26T3Y, 102+600 218990 21.899.0
13Uéadng
44D Ui, 301 ATas0 50,000.0 50,000.0
Uah E333T34 - (40 T3Uasfc 50,000.0 50,000.0
Tarsi0¢ U=, 301 ATail 30,000.0 30,000.0
@3AUSACT -140¢ T30adhc 30,000.0 30,000.0
&lavcug U=, 301 Arasl 73,000.0 73,000.0
T343Y¢ &.g0Y36l3Y +. T30abfc 43,000.0 43,000.0
anaw3y-ailic T3Vasic 30,000.0 30,000.0
13046 O4RG U3, 301 ATail 20,000.0 20,000.0
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IZESAC S A4l AST TSEEST»E3TV»AC
—=e=1=n- Uy 13291396 ©1 T=12320U°3 L6 —
201202600°8A Avafi=vai YIES- IS T4 rs-
S |83 =13t T=agyst Ts&gwst N alloa i sl T=a¢v=t
& <R S A Ty Gana an -»at»- T
ul 8— M BCY=n=natAlasy Yéaha- 46U UCB-UBHT - T3V I13Eé»i
SRE3T3VUY»i
1 2 3 4 5 6 7 8
M3+ -40C T3VadfC 20,000.0 20,000.0
TS T40RC Ui, 302 Arail 7,000.0 7,000.0
T-10-38 Aatais-130T=313Y TU 0+350 T3Uadfic 7,000.0 7,000.0
4,03E3-I3{]CY SREST3Y0Y»A 58,576.0 58,576.0
5,D0»00Y=3T13(¢Y NeTadasAlasy 2,000.0 2,000.0
6, »EYCT3T3Y mi=ferai 16,000.0 16,000.0
7.0D »fi1=2A45040 2U=6F45C U»T=20=T3Y T=2UfcC
RoUv=Vana- 460 200,000.0 200,000.0
b 92022pAUA6AU20U UZE=2528a6AUa6U 16,973,163.6 2,454,969.8 11,909,656.0 672,000.0 1,936,537.8
3(1 Afasle
01 01 08, T 3ia=T=3Y aul»TwY»A¢ NGUY=Yana- 40 572,000.0 572,000.0 0.0 0.0
3(1 A4l
DD @3140 CAZTaYUY»AC A3 TASYC 13313V f»YU 30,000.0 30,000.0
F3Y3U»é-YlAaY N3U30YUC a=3railf & 3T ACT 38
K2e6va0 -1V 140 BV 490,000.0 490,000.0
fﬁff !'é'r\’(c; UBfuC OfYe3T3+C NBU3(Yu3icY 12,000.0 12,0000
I»Yriay
Eaéa U=ing T3AY3cAc N=3U30Yu30CY T»Yriay 40,000.0 40,000.0
04 03 01. TAAST3Y Gpl»TwY»AG NGUY3VY4ni4 - 45U 9,274,226.0 9,274,226.0 0.0 0.0
3(1 Afasle
D. T=A=&»Y6C V1. N 6 1A7i46 4,400.0 4,400.0
N 11 1&fia6 75,005.0 75,005.0
N 26 1&fi40 100,000.0 100,000.0
N 198 1&fia6 65,000.0 65,000.0
N 52 1&fia6 25,000.0 25,000.0
. A&iUSYISYC 3Yi3Y N 32 18746 130,630.0 130,630.0
N 150 1&fias 55,000.0 55,000.0
U=1anarc 3Yi. N 131 1&na6 55,000.0 55,000.0
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ISESC a1 ATailr AST TPEESTE3TVriC
-an I ?e? I \3Y, Tséc-l-sé
=e=ten- ey 1521696 ©1 T=T2320U°0K 3E6i¢ E——
201202600°8A Avafi=vai YIES- IS T4 rs-
3 |03 =13t T=agyst Ts&gwst =T RIREpEySih- 2l T=50T3E
S S BoY=n=nasAlasY Vafa- &0 NoCasISY A T=Ee»h
| o YC3-UBHiT»%3 - iSI3Y
SRESTIYUY»A
1 2 3 4 5 6 7 8
0. 203{(3Y¢ 3Yi3Y N 63 14fia6 55,000.0 55,000.0
N 98 1&fi46 150,430.0 150,430.0
N 192 14fi40C i»f3Yafi4- 46U 67,566.0 67,566.0
pb TYU TRAGAIBY 31%-3(CY CYEWCWalT 80,035.0 80,035.0
GA3V13A(3YC Y73V N 24 14f46 55,000.0 55,000.0
P»Y-31CAC N 79 1&fi46 45,000.0 45,000.0
AHEUBYG 3YT3Y N 13 1446 45,000.0 45,000.0
@33AC3C N 181 14746 105,428.0 105,428.0
ACT 93 1ARMAGC NCUYSYaria-ail 170,000.0 170,000.0
273v¢ ACT 180 1&f46C NCUY=Yania- ail 90,000.0 90,000.0
ACT 170 1&fia6C NCUY3Yana-ail 280,000.0 280,000.0
ACT 39 TA&RA6C NCUY3Yafi4 - 46U 52,700.0 52,700.0
ACT 17 1AR&G6C NCUYSYaria- 4l 41,620.0 41,620.0
AGT 155 1&fia6 250,000.0 250,000.0
ACT 174 1&fi46 95,000.0 95,000.0
ACT 189 1&fia6 109,033.0 109,033.0
ACT 83 UCGY. 1Af46 9,276.0 9,276.0
O"'"3Y 3Y »E 1 3Ha0A3 Y3 i 13R340
Nguvsgéﬁa.éguE 1 SA4A3YC 3YT3Y ACT 89 TARAAC 50,000.0 50.000.0
Of 3YC ACT 177 1&R4a6C NCUY3Yana- 46U 250,000.0 250,000.0
o =2YC ACT 97 1&7a6C NCUY=Vafia- 460 60,000.0 60,000.0
of =Y ACT 75 LAf46C NCUY=Yaia- ail 60,000.0 60,000.0
O "3YC ACT 196 1&R4a6C NCUY3Yafia- 4l 190,000.0 190,000.0
Ofi "3YC A»T3T3Y WrEVaa-C3T3Y Udb»gC NCUY=Vara- 460 180,000.0 180,000.0
of " 3YC ACT 171 *&R46¢ NCUY3Yana- ail 190,000.0 190,000.0
O "3YC ACT 87 1&M&0¢ NCUY=Yara- 4l 140,000.0 140,000.0
O "3YC ACT 78 1&M&6¢ NCUY=Yara- 4l 100,000.0 100,000.0
2{3Y.24CY¢ A30. 3AT»60C 1AM46G NCUY3Yaia- 4iU 110,000.0 110,000.0
©of =Yg AT 1850GcY. 1afiao 30,000.0 30,000.0
©of =Yg AGT 1950GeY. 1afias 30,000.0 30,000.0
Of"=Y¢ ACT 45UCcY. 1anad 25,000.0 25,000.0
©of"=Y¢ ACT 43 UGgY. 1&iiad 43,000.0 43,000.0
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ISESC a1 ATailr AST TPEESTE3TVriC
-an I 363 I 3Y Tséc-l-sé
1=e=1=i-usy 15211696k ©1 T2T25a0U°8k ISEeé»fi¢ ——rr
2(J1202600°8A AVaR=Yashi YIES- IS T4 rs-
3 0.3 =13 1240wt T=4¢v=t T, RIS s 134GVt
T OISE ROY=i=RATAIAH YaRa- &0 VSEAHSTSY ” -»ats S
u o W UC2-USBAN»H3 - iBT3Y
SRESTIYUY»A
1 2 3 4 5 6 7 8
Of " 3YC AGT 99 UCGY. 1Af46 25,000.0 25,000.0
©Of"3YC AGT 18 UCGY. 1&Ra6 30,000.0 30,000.0
O "3YC AGT 135 UGgY. 1AM46 25,000.0 25,000.0
of "3Y¢ @=(=TaieTa 3Vi=3Y ACi 7 *&fao 30,000.0 30,000.0
of3Y¢ &. p3MaUi=YC 3Yi3Y ACT 1 14746 50,000.0 50,000.0
OF3YC @. 4R -»El3YC 3Yi3Y ACT 158 1&Ra6 50,000.0 50,000.0
Ofi"3YC . PHEUAYIBYC 3YT3Y aieaily3i3y 150,000.0 150,000.0
of 3V ACT 38 1&iia6C NCUY3Yaria- 4l 90,000.0 90,000.0
2{3. 3[4TYC UG -. ~3%U=0plasic UgeY. 1afa0 40,080.0 40,080.0
2f3.3T4TYC U3fnG -. ~1an3T3YG UGeY. 1&iad 65,000.0 65,000.0
2(3.3T4TYC USfnC -. T3ApuCC UCeY. 1&fiad 120,060.0 120,060.0
2/3.3TATYC USBAKC -. asT»T3YC 14460 111,100.0 111,100.0
2{3. 3[ATYC UBAUC - 2T3Y¢ UCeY. 1Afa0 40,000.0 40,000.0
2{i3. 3[ATYC UBHUG - E»&Y3A3AC 1A146C NCUY3Yana - 4iU 72,600.0 72,600.0
2{i3. 3[ATYC UBAUG -. @36 T3i3(C UCeY. 1aMa6C
RoUY=Yania- a1l 80,000.0 80,000.0
2A3A3WC USAKC -. a8W3YC UCgY. 14f&0 140,320.0 140,320.0
2A3A3WC USAKC 0. 2ATSR3TC ACT 2 T&R40 120,470.0 120,470.0
2ASABATC USAUC 0. 2AT3R31C ACT 5 1440 94,700.0 94,700.0
2A3A3WC USAKC -. 2Ap=AC UCeY. 1anad 70,000.0 70,000.0
2ASA3WC USAKC -. DYS»Aic 1AM46 250 3R, T»0ai 160,810.0 160,810.0
2ABATC USAKC 0. 2ASASTC (A & "3TC) ACT 2 181746 38,260.0 38,260.0
2ABATC USAKC -.  3E3AC 1AR46 70,000.0 70,000.0
2ABATC UG -. Al Ze3T3Y¢ 1AR40 70,000.0 70,000.0
2/A3A3WC UBAKC -, CUCTRATC 1&R40 85,000.0 85,000.0
2ABA3TC USAKC - URST3YC 1440 86,810.0 86,810.0
2ABATC USAKC - 2AB0eST3YC 1440 99,990.0 99,990.0
2A3F3TC U3hKC - UaR TI3YUC 1afas¢ NeUY=Yaria- 4l 50,000.0 50,000.0
22T USAKC 0.036CEC - (4103 1Y T»E313Y tdbng 20,000.0 20,000.0
2ABFA3YC - 2(-3T3YC 18746 15,000.0 15,000.0
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IZESAC S A4l AST TSEEST»E3TV»AC
-an I 363 I 3Y Tséc-l-sé
—=e=1=n-UaY 1629898k ©1 T=712520U°8 [2Ee»AC —
2(J1202600°8A AVaR=Yashi YIES- IS T4 rs-
3 a3 1=1=th T2aCTt T=acvat i alont ot B N
& Z A0 RCY=fi=fiasAlasy Yafia.- 40 HCSUSHTHS - ASTSY 1=Ee»fi
SRESTIYUY»A
1 2 3 4 5 6 7 8

2/3A3TC - P36CEC 1ARA0C NCUYSYaRa- aiU 70,000.0 70,000.0
ZABA3TC - 23S T3T3Y( 1AR40 58,210.0 58,210.0
2ABATC 0. 2ASASTC A3A-UBVE36 T3AASA3Y 25,000.0 25,000.0
2ABABTC -, 21R3AC 1&746 61,900.0 61,900.0
2/ASA3TC 0. 1»10C ACT 2 1&fa0 50,000.0 50,000.0
2/3F37C UBAKC - UAIST»ATC UCeY 1Afa6 30,000.0 30,000.0
2AB[A3TC USAKG -.a8T»13+C ACT 2 UCeY 1&fiao 20,000.0 20,000.0
M»03A0&6YCUC USAKC 0. T2T36C AGT 5 1&fad 60,000.0 60,000.0
M»03AUAYCUC USBAKC -. EGxUC UGGY. 1AfA6 58,825.0 58,825.0
M»03AUAGYCUC -. _ 2U3B»YC UCCY3T3- 1&f40 90,000.0 90,000.0
M»0300asYCuC -. Uai=waseg N 1 1&iacC NcUY3Yaia- ail 100,470.0 100,470.0
TM»0=f0aYCu¢ U=ikg @=wasvas N 1 1&fias 90,000.0 90,000.0
M»02A04YCUC -. @3AAE3YC N 2 1&7a6C NCUY3Yaria- &l 40,000.0 40,000.0
M»03A0AYCUC -. 2T&GYUC UCGY. TtaRas 40,990.0 40,990.0
M»03A0AYCUC -. CA=YAsC ACT 1 1ARA6C NGUY=Yania- il 60,000.0 60,000.0
M»0=3A0&YCUC -. T3AUCAG ACT 2 1&RA46C NCUY=Yaria-ail 35,000.0 35,000.0
M»03A0AYCUC -. 26WOB04AC 1ARA6C NCUYSYafA- 40U 40,000.0 40,000.0
M»03A0AVCUG -. T»03NATCHC 1&ha6G NCUY3Yania- ail 40,000.0 40,000.0
M»0ZAUAVCUC -. M»OSUST3YC UCeY 1ARA6G
ROUY=Vafia- 41U 50,000.0 50,000.0
M»03A0&6YCUC -. E4ie=TaoYu UGeY 1&RAa6C NCUY3Yadia- il 40,000.0 40,000.0
M»03A046YCUC -. TATCY3AC UGeY 1&fad 60,000.0 60,000.0
M»03AVAYCUC -. VAESU3AC N 1 UCGY. 1TAMRAGC
RCUY=Yafia- 40 45,000.0 45,000.0
Eaéad U=fiug -. bYadC UCeY.1AM46 50,000.0 50,000.0
Eaéad U3fiuC @ACT3TC N 4 1Af46 70,000.0 70,000.0
Eaéal USTHG 0. 2E3T»iital Sill-e13 - afl1=T3Y aisaily=T3y
AaeT 70,000.0 70,000.0
E4éad USfiug 0. 8W»+3Y3T3YC ACT 3 146 50,000.0 50,000.0
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-ail=3e313Y T340t
1=e=1=i-usy 15211696k ©1 T2T25a0U°8k ISEeé»fi¢ ——rr
2(J1202600°8A AVaR=Yashi YIES- IS T4 rs-
. P i . 3 E<) ATR3u3Y3N»- ,
3 03 I3136A T2acT=t I=2acT=t ISV, »ln=psy=he S AEL W
g | S8 BoY=r=nsilany Vaia.- &0 e i=e
ul g CY=h=fiaoAl ana-af YOI - ASTSY
SRESTIYUY»A
1 2 3 4 5 6 7 8
E4éad USfiug -. 104&iYC ACT 1 1&fa6 60,000.0 60,000.0
Eaéad USiug -. 2EA3E3(C ACT 1 1&R40 70,000.0 70,000.0
E4éad UBAuC E»6Y3A3TC 1ARa6C NCUY3Yana- ail 65,000.0 65,000.0
E4éad USAug U. T 3Y304aAC ACT 28 UCeY 1&RA6C
RCUV=Vafia- 400 40,000.0 40,000.0
E4éad UShug 0. T3Y304iC ~ 3%ail A303036C
USYI=a3r -4 NGUY3Yania- 4l 40,000.0 40,000.0
E4g4d USAuC U. 8 M»+3Y3T3Y( ACT 5 1Afa0 60,300.0 60,300.0
PCAZTC USHikG -. GSABECIC AGT 2 1ARAS 30,000.0 30,000.0
PCASTC UBAKC -. @»1 @é3AC3AC 14f40C NCUY3YaRa- ail 20,000.0 20,000.0
PCA3TC UBAKC U. 2AACTC ACT 6 1&RA6C NCUY=Yana- ail 50,000.0 50,000.0
PCA3TC UBAKC -. ~3TA30C 1&fasC NCUY=VYania- ail 70,000.0 70,000.0
T3T40RC USAKC -. TAAGC 1Afi46 85,000.0 85,000.0
T3T40RC UG -. 243¢AC 1Ah46 150,000.0 150,000.0
T374RC USBAYC 0. _ CECe3YC 2Y3Y(3YC 3YI3Y 1&hao 100,040.0 100,040.0
T3740RC UG 0. £¢"3YC N 1 1&R46 60,610.0 60,610.0
&lapYCuC USAkG -. Eaf 1Af46 50,000.0 50,000.0
1 3046 OARC USfuC -. ©F+CYC 1&fa0 35,000.0 35,000.0
Taw3(uC U3ug 0. @0T=A1¢ ACT 3 1Af46 120,000.0 120,000.0
Tar=30uc USAYC -. g363EC ACT 114746 184,658.0 184,658.0
Taw=300C UG 0. ~ (4603 T3YC afiy, TVa03%aifiT EY300CH
ATT=T »i»E3Y»AC ACT 1 N30l 1ana0 50,000.0 50,000.0
[Taw3(u¢ USfiug 0. @0T3A1¢ ACT 1 1&Ma6 115,000.0 115,000.0
Tar30u¢ U3hing A»0»YCuG UCeY. 1afas 20,000.0 20,000.0
[Taw3(u¢ USivg 0.201=3n1¢ ACT 2 1&R40 126,600.0 126,600.0
TAT300G¢ USAikG 0.2Pail=YC x3AT3AZ-Cr3T3Y Udbg 60,000.0 60,000.0
2AUSBTCAC USAKC -. 2Uu»filC 1440 39,800.0 39,800.0
2{USICAC -. E»Yaidal 1&iad 50,000.0 50,000.0
2AUBTCAC -. 203 TY3T3Y 1&A46 145,000.0 145,000.0
2AUSTCAC -. 2TYSECxC 1&M46 12,500.0 12,500.0
ZAUSTCAC 0. 2AUSTCAC ~ 3REIBYC 3YT3Y 141746 60,000.0 60,000.0
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-ail=3e313Y T340t
1383134 U3Y - R O3 T LA A &
1329]8°6£ 1 T2128a0U°8 I13Eé»fi¢ S—
2(J1202600°8A AVaR=Yashi YIES- IS T4 rs-
1 [Py . , . , 3 AIRSBUSY3SNp- P ,
%‘ o, %‘ IS13tA T=80wst Is&gvst 'r|3 g a;j/g'l‘s‘\‘( o »';’i»_ 3l I=4¢ TSt
g L ST sms o S
al g il REY=fi=fiaiAlasy Yana- au UCB-UBHT - T3V ISEé»fi
SRESTIYUY»A
1 2 3 4 5 6 7 8
2AU3TCAC U. 2AUBTCAC 3AT»6WC 1Af40 70,000.0 70,000.0
-. 2AUSTCAG *&Ma0 60,000.0 60,000.0
04 03 |02 TRAST3Y Qui»TwY»AC BGYSA3AAIAIAGY. 1,5655,054.8 1,555,054.8 0.0 0.0 0.0
3 Afaw
O "=YC ACT 200 1ARAGC TCE=T3AT USEY3/»YUC
130T UB6G BCYRSRAAISY 313 140,000.0 140,000.0
Ofi SYC 1. a»WTiaelSYC 3YT3Y UCeY.1Afi46 40,000.0 40,000.0
2AUSTCAC USAKC -. UAR=T3YC 1Af46 300 38, W»0ai
v aRST =640 72,135.0 72,135.0
2ABATC USAKC 0. ZASASTC aTU ~3YST3Y¢ 18746 200,000.0 200,000.0
2ABAIYC Y3 - ST3T3Y UCeY. TARAC T3A13R3TC
U=eV2xiai0 60,000.0 60,000.0
M»0SAVAYCUC USBAKG - T 303R»YC 1Af40 YaR3T364006 120,000.0 120,000.0
E4éad USfiug -. PCAST3045 G 1ARA6C USfin313NECxC
126456400 60,000.0 60,000.0
E4éad USfuC -. E»6Y3Y6uC 1&fa6 200 3B, w»0ai 90,000.0 90,000.0
E4éad UBAUC U. TSRCAC ACT 4 1&746 60,000.0 60,000.0
E4é4d USfiuG U. T 3Y304AC Of"3Y(3Y Exai0as ™ EYOanas
A=0=3036C 2-i1 +a0a6¢ N3 TU3Y elypy30=6450 ACT 18 60,000.0 60,000.0
1ARA6C YSETCY T»04il USAk313RECxC T3¢456400
Taw3(uC USfug -. UaR 11»0¢ ~ 3Y313YC 1ARA6C
NGUY=Yafia- 4l = T0e=3T36436¢ 3 T3hrail 40,000.0 40,000.0
Tav3(u¢ U3fug ©0i=a1 u3030¢ U3A%314740C T3645640U 109,419.8 109,419.8
Taw3(uC UShkC U.DASKI3YC ACT 5 1&fad 30,000.0 30,000.0
PCAZTC USAKG . TIAUAC T. 83h-&l3YC +. 32 N3e6»C
D3(SEW3YC & W3T3Y WY T»E3-CT3T3Y CYEwCwai e
qTU40RAD U=eY=x1450C AIBAINV=TY USEY=RaYC SUR=640 60,000.0 60,000.0
" »>AST36406400
PCA3TC UBAKG -. @aie30»H3YC 1afas /2E&RIBY/ 90,000.0 90,000.0
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1529/6°8£ ©1 T2T28a0U°8% ISE6»AG E—
2(1202600°8A Avafi=v4in Y2ES- 1SN T=Hars-
. PR E<) ATR3u3Y3N»- .
3 03 I3136A T2acT=t T=2acT=t ISV, »ln=psy=he S AEL W
R NI BCY=2nASnaklasy Vaité - 400 SEARSISY ™ vat SEssf
u g ¢ YCB-UBA W42 - ATV >
SRE3TIYUY»f
1 2 3 4 5 6 7 8
PCAZTC UBAKC U, l4iURas ACT 1 t&RA6C U3fn313NECxC
645650 30,000.0 30,000.0
T3 408G USALC 0. CECe3YC AGT 4 1ANAGC USEY3»Yl 52,000.0 52,000.0
8a6YGUC USAKC -. ©0»-C 18746 100 26, T»041 81,500.0 81,500.0
&laveug U=hing -. 2A=T406¢ 1ARA6C T=643646U 110,000.0 110,000.0
&lasvcuc UShiug -. EakY=T3i¢ 1aiiao 50,000.0 50,000.0
04 05 |01 @3M=T3Y Gui»TwY»AC RCY3f=iasAlasy 237,200.0 237,200.0 0.0 0.0 0.0
3(1 ATl
2ABASTC USKG 0. T»200 U303 &»T3A3Y(
U=Rs=1A046¢ RCUV=2V4R4- 41U 70,000.0 70,000.0
DD 2ii= - 3TaWVC U3 ASCYC USYT3E3T3V»T3Y
S RS1ARA 48,000.0 48,000.0
M»02A0AYCUC USAYC 0. T3A1»YCEG U=03u=a»T3i3Y(
ACT 2 USTiS1 440 24,200.0 24,200.0
E4é&d USHkG U, 8 »+3Y3T3YC USik314746 70,000.0 70,000.0
DD Taw=0ug USfing -. T36YCC USih=314a1a6 25,000.0 25,000.0
04 05 |07. Z=3/%=T3Y Gui»TwY»ic NCUY=3Yaia- 450 571,830.0 0.0 571,830.0 0.0 0.0
3 Afasl
DD PSEUST3{CY ST315UC3 (O "3Y¢ AGT 50 1&a6C
UB&Y=TG I»A3T36406400) 200,000.0 200,000.0
DD A3RTA3VAAIBY VSE3A3A&AISY QAR T3ICY 3140y (1
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3 Afaw
- @R-3»TC 14740 50,000.0 50,000.0
- A3Y3R»YC 1&Ra0 31,000.0 31,000.0
- 2AUSRC 14460 20,000.0 20,000.0
28. 12-=2U0= TrA&IAI=Y 3YoU=3Y T=243T64A1=0U 6
04 03 |r=fixT3Y »i»E3Y»iC ai8aiol3Y T3%U3T»AAl3Y 39,871.6 39,871.6
N=0=d SYNASASRT - &i00C O»éupxiiail
DD 23021 3L 928Y:4°T262U 559,135.6 50,000.0 467,288.0 0.0 41,847.6
31 ATaole
04 03 01. TAASTSY Qul»TY»AC NCUYSYafia- 4iU 467,288.0 0.0 467,288.0 0.0 0.0
31 ATal
-, _ 40&C 1&nao 40,023.0 40,023.0
0. 120383837 ACT 1 -CR»A0A. 1440 60,015.0 60,015.0
-. O»fiACY&T4d 1ARAGC NCUYSYaf4- 46U 60,000.0 60,000.0
- 2/-313Y1¢ 18746 60,000.0 60,000.0
-. 20=3603(C 14f46 60,000.0 60,000.0
- 20-»1¢ 1&f46 60,000.0 60,000.0
2AUBTCAC -. ~BUpST3R3TC 1AM46 63,625.0 63,625.0
2/U3TCAC -. PATIHU»AG UCeY. 1&iiad 63,625.0 63,625.0
04 03 02. TAASTSY Qui»TwY»AC RCYSA=fasAlasy 50,000.0 50,000.0 0.0 0.0 0.0
31 ATal
ﬁ.azuzgsu»-rg Vafi 1ARE6C T=6456400 50 22T, T»0C 50,000.0 50,000.0
28. 12-=2U0= TrA&IAI=Y 3YoU=3Y T283T164A1=0U 6
04 03 |r=firT3Y »i»E3Y»iC ai8aiol3Y T3%UST»Aal3Y 41,847.6 41,847.6

N=0=f SYNASASRT - 4i00C O»éupxfiail
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1 2 3 4 5 6 7 8
b 1°028ga6ULsL F28Y:a°T2520 503,428.0 0.0 446,161.0 0.0 57,267.0
3{ Afaple
03. TaRT31CA CRE3YAIAIZY, &» W 3T3Y
01 01 T36313A03Y N3YAS&T3T3Y ~ T3A3T03(0Y 18,660.0 18,660.0
I3¢313A03Y USAUCYY»A¢ &=Na=vail
01 01 08, 1 3AE=3T3Y Qul»TwY»AC NCUY3Vafa- ail 88,000.0 88,000.0
04 03 01. TARAST3Y Gui»TwY»AC NCUY=3Yana - ail 358,161.0 0.0 358,161.0 0.0 0.0
3(1 Afal
-, U. 1»03/»YC ACT 2 UGgY. 1&M46 36,673.0 36,673.0
- 1. I T3R»YC UGeY. 14460 31,488.0 31,488.0
- ZRATT3YCEWE UCeY 1Anas 40,000.0 40,000.0
- A3y= -(40C 1&na6 35,000.0 35,000.0
- ISAL»YCIC ACT 3 *&Ras 40,000.0 40,000.0
-. 0&i=-(450C ACT 1 UCgY *&fas 45,000.0 45,000.0
- =Y0=31C ACT 2 UGeY.1aias 30,000.0 30,000.0
- D3ACT3YUC UGeY *&Ras 30,000.0 30,000.0
- E3Y¢30ul40nc *anas 30,000.0 30,000.0
- 14i=-(460¢ 14746 40,000.0 40,000.0
28. 12-30(= TRA&IAIZY 3Y6U3Y T283T646A1=0p 6
04 03 T3> T3Y »A»E3Y»AC ai6aiol3Y T3RIST»RAU3Y 38,607.0 38,607.0
N=0=d SYNASASRT - 4i00C O»éupxfiail
Db Ea&abd 928%4°T2520 719,767.4 652,000.0 20,000.0 0.0 47,767.4
3{ Afaple
03. TaRT31CA CRE3YAIAIZY, &» W 3T3Y
01 01 T36313A03Y N3YAS&T3T3Y ~ T3A3T03(0Y 3,000.0 3,000.0
I2¢313A03Y USAUCYY»AC &=Na=3vail
04 03 01. TARAST3Y Gui»TwY»AC NCUY=3Yana - ail 20,000.0 0.0 20,000.0 0.0 0.0
3(1 Afal
0. T3Y304AC ACT 10 *&R4s 20,000.0 20,000.0
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04 03 o1 TRA=T=Y aulyTwY»ic NCUY=Yania- 46U 311,650.0 0.0 311,650.0 0.0 0.0
3 Afaw
-. 20=36¢3(¢ UCgY.1aMa0 40,000.0 40,000.0
- BUB3RYC UGEY. 1Af40 90,000.0 90,000.0
-~ ={(=V245iC UCgY. 2 &fi46 44,450.0 44,450.0
- @&E=pH=YC UGeY. 1A, /2R400/ 20,000.0 20,000.0
. @»ORBBYC UGV, 1ARAS 62,200.0 62,200.0
Aafiag -1410C 1aR46 55,000.0 55,000.0
28. 12300 TAAGIAISY SY6USY 15831645130y 6
04 03 | r=i»T3Y »i»E3Y»iC 4684i603Y T3RUST»AAU3Y 36,540.8 36,540.8
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12, UG0SV pY=T3T30iai Yok 37 UY363T
06 05 |AVwrsycuv»ic N3U=h py3T3asy3(cy 163,000.0 163,000.0
RCY3A3nasAlasy
PD T2TA6PE B28%4°T2820 281,593.2 0.0 254,300.0 0.0 27,293.2
31 ATaoue
03. TaRT31GA CRE3YAIAIBY, &»T3T3Y
01 01 [r=é3i3iU3Y I3VA2a»T3T3Y " T3z 103y 4,155.4 4,155.4
13621303y U3AUCYY»ic &=3Na=vail
01 01 [o8.i=As=T=Y apl»TwY»AC NCUY=Yaria- ail 80,000.0 80,000.0
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3(1 AT
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0. “»A1C N 1 1AM46 39,300.0 39,300.0
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04 03 T30 T3Y »A»E3Y»C 46640003 T3HUST»RAU3Y 23,137.8 23,137.8
N3037 3YNASASRT - 400G O»éupx»fiail
Bb 8Ua6UAeE B=28Y:5°T282U 321,952.4 20,000.0 253,860.0 0.0 48,092.4
3(1 Afal
03. Tafl=1Cii CRE3Y4AIBY, a»T3T3Y
01 01 T=26213003Y N3YAS&»TST3Y ~ T3S T03(cY 3,000.0 3,000.0
I363T3AU3Y USAUCYY»Ac &3Na3Vail
04 03 01. TAASTSY Qul»TY»AC NCUYSYafia- 4iU 273,860.0 20,000.0 253,860.0 0.0 0.0
3(1 AT
0. T383YC ACT 13 1&f46 28,200.0 28,200.0
0. Y4ACEC ACT 1 1&f4d 20,000.0 20,000.0
-. PI3YC04AC UCeY.1Af46 22,210.0 22,210.0
0. T383YC ACT 11 2&f46 62,290.0 62,290.0
-, afaT3YC (8CEC3Y) 1&fa0 23,120.0 23,120.0
0. 8CEC3YC WSAST3Ric3YG 2EE=AI=Y N=U3(YaC 1a7i46
Neovovanaan G *&niaog 23,040.0 23,040.0
-. @38Y3T45Y0C 1A4Ra6C NCUY3Yana-ail 50,000.0 50,000.0
U. 8GeC3YC ACT 2 1afiasg NCUY3Yana- ail 20,000.0 20,000.0 0.0
0. T3&3YC ACT 3 TAA3N=USECAC NCUY3Yafia- 4iU 25,000.0 25,000.0
28. 12-30(3 TRA&AI3Y 3Y6U=3Y T3431640A1=0p 6
04 03 T3i»T3Y »A»E3Y»AC 45645603 T3HIST»RAUSY 25,179.0 25,179.0
N=30=3d 3YNASASRT - 4il0C O»éupx»fiail
o7 06 04. 2»T3T3Y 3¢3ToatAlasy 30 ASTRAYY»ACY 19,9134 19,013.4

N=U0»fi- 20CY T3RU3T»AA40AIA0Y Y»ACY

630




= (adg» 1=300Y

IZESAC S A4l AST TSEEST»E3TV»AC
aAlSesTsY. T=240Tst
—=e=1=n- Uy 13291396 ©1 T=12320U°3 L6 —
2(T120260U°8A Avifi=yasn Y3ES- 13 r33anrs-
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1 2 3 4 5 6 7 8
PP 120206 Oadk F256%a°12820 1,225,245.7 180,000.0 1,028,314.0 0.0 16,931.7
3(1 ATl
03. Tai1=31CA CRE=YaiAl3Y, &» 313y
01 01 T36313A03Y N3YAS&T3T3Y ~ T3A3T03(0Y 5,000.0 5,000.0
I=¢313i03Y U3AlCYY»ic a=3Na=vail
01 01 |os. 1=fE=T=Y aplsTwY»AC NCUY=YaR4- 4l 10,000.0 10,000.0
04 03 |o1. TRA=T=Y aui»TrY»Ac NCUY=Yana- ail 646,314.0 0.0 646,314.0 0.0 0.0
3(2 A4
-. b3UWCYC UCgY. *aRa6 75,000.0 75,000.0
0. ©0»-Y304i¢ AGT 1 1Ana6 40,920.0 40,920.0
-. @GY1C UCgY. 1afao 20,000.0 20,000.0
- W»AY3R»YC UCeY. TaRa6 29,800.0 29,800.0
0. ©0» - Y304A¢ I3AA3A3Y 29,800.0 29,800.0
- @3UCRIS(C ACT 11446 42,414.0 42,414.0
0. ©0» - Y304A¢ AGT 3 1&M4a6 45,000.0 45,000.0
- 233> 1C 147460 40,000.0 40,000.0
-. 20=1Y=04RC 1ana6 30,000.0 30,000.0
- 2AT3T3YC UGeY. TaRa6 30,000.0 30,000.0
0. T300¢ N 2 UGgY. 1Ana6 50,000.0 50,000.0
-. 2.3{=2T1=304i¢ 1anasc NcUY=Yana- ail 45,000.0 45,000.0
-. 2A+CC *ana6 50,000.0 50,000.0
T =046 04AC USAKC U. @»AlailC AGT 1 1&fad 20,000.0 20,000.0
=040 04RC USFUG @»AUATTC T»3aim AS0=30=6C 18746 98,380.0 98,380.0
28. 12-30(= TRA&AISY 3Y6U=Y 134=3T640A0130p 6
04 03  [WSi»T3Y »fA»E3Y»AC 40640603 T3%UST»AAU3Y 11,931.7 11,931.7
N=U=f 3YNAS AR - 4000 O»éup»fiasl
05 02 |11, 2éa0¢=2a=3N3T3Y Gui»ToY»AC NCUY3Yana - 4l 172,000.0 0.0 172,000.0 0.0 0.0
1 3046 04AC 1. 20» - Y204i¢ NCT=Y1=3Y4a6C NGUY=Yana- iU 63,230.0 63,230.0
13046 04RC PP a»ilATTC TSRS TUSICY eTafsu3ASYUS
'|I'»'r C C T3A3TU3(CY e wan3u3Asyusy 28.770.0 28,770.0
13046 04i¢ 130uC NCT=3Y13Y46 80,000.0 80,000.0
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2(1202600°8A Avafi=v4in YEES- 1SN T=irs-
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T |S8 RCY3fi=RAsAIEY Vafia- 480 VSEASTSY ” »aty- =Eeri
| o W WCB-UBAN»E3 - A T3Y
SRESTIYUY»A
1 2 3 4 5 6 7 8
01. &»T3T3Y YR3YSTHAIBY 2T rax3Y243ANY»ic
12 07 RCUY=Yara- a0 20 Afail 200,000.0 0.0 200,000.0 0.0 0.0
ar»rTExai0¢ (@-2)-20=1Y=04f (1 3046 O4RC U3Hit) 200,000.0 200,000.0
13 05  |05. 20 Gui»TwY»AC BCYSASAasAlasY 180,000.0 180,000.0 0.0 0.0 0.0
31 Afan
@»filasT 03030C T»YTAAYST3Y U36C Ex3TY»AC
CA=A T3A&40 -»W3TY»AC I»Y3A3T»AC 180,000.0 180,000.0
A= 1384064l
DD 1a12Ugk 028%A°T202U 792,068.5 0.0 752,407.0 0.0 39,661.5
3 Afaw
03. 4R T31CA CRE3YAIAIBY, &»T3T3Y
01 01 [I=¢313i03Y K=3YAs&»T3T3Y " 3= 10300 5,175.0 5,175.0
T36312A03Y U3AUCYY»Ac &3Na3vail
04 03 [o1. TAAZT=Y Gui»TwY»Ac NCUY=Yana-ail 752,407.0 0.0 752,407.0 0.0 0.0
31 Afan
0. DASYI3YC AGT 4 1Af46 55,000.0 55,000.0
0. A3f»Y63T3YC ACT 1 1&Ra0 60,000.0 60,000.0
-. 9140AC UGgY. T&fa6 47,782.0 47,782.0
. PASHI3YC ACT 13 1&f4s 43,270.0 43,270.0
0.83f»Y63T3YC N 2 1&fa6 75,000.0 75,000.0
U. a3fi»Y63T13YC ACT 6 UCGY. 1&fad 51,355.0 51,355.0
U. a3fi»Y6313YC ACT 5 UCGY. 1&fad 60,000.0 60,000.0
. 2A%B3T3YC 1AR46C NCUYSYaf4- aiU 55,000.0 55,000.0
u. UaR D3xAYC ACT 1 1&fa6C NCUY=Yania- iU 40,000.0 40,000.0
U. PishI3YC &»W3T3Y Udk»cC NCUY3Yara-ail 40,000.0 40,000.0
- &3fi»Y63T3Y¢ ACT 4 1&f46C NCUY3Yafia - aiU 40,000.0 40,000.0
“adfi»0=T3YC ACT 1 1ARA0C NCUY=Yaria- 40 45,000.0 45,000.0
P13V ACT 6 1&iadC NCUY3Yana- ail 20,000.0 20,000.0
-. @»0i=304AC 1&R46C NCUY3Yafia- 4iU 55,000.0 55,000.0
-, 2336 1846 35,000.0 35,000.0
-. @fil»AC 1&Ra6C NCUY3Yana- &iU 30,000.0 30,000.0
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b 820=020£>12U 12&2Ua6AU=U
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Pb 2082040 12&=20a6AUa6UU°8A
1257212020 p2U0U2A20a1 13,968.7 0.0 0.0 0.0 13,968.7
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09 01 [rsé=i=n0=Y R3Va=a»r3T3Y ~ r3is1usicY 13,968.7 13,968.7
T36313103Y USAUCYY»AC a=3Nasvail
DD 25712g/£U 1a31°3& U2E=2528a6AU=20
a°121=20 252530212514 1=2&20a6AUasU 3,000.0 0.0 0.0 0.0 3,000.0
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01 03 [I=¢=33iU3Y K=YAsa» 313y " T3 10=(0Y 3,000.0 3,000.0
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